04/05/2016 CAREER POWER - No.1 coaching institute for banks and SSC entrance exams
Solution Report For IBPS PO PRE 13 (Easy)

Essay for Question No. 1

féar (1-5): = fou e vl usl 7 €1 s feu e §, forest sraRur &Y few st | SiR 11 gIRT feam ran 8) I aet § o g W ot
U T T Y B I AT §] T HY=T BT &-Ydeh UGy 3R 1d ql $i 3aga1 Hrd gy Fofa Hifv 3 & o fased fow
T HYT HT THYUT SFTIRVT Hal 8

IR aifod—
(1) Tfe Faa ey | TT R

@) afe g a feed | o1 e 11 g 8
@ afead s a1 ga g
(5) afe fA=pd | SR 11 ST T &

Q. No Question Status

Q1 BYF :
7o A fRu
7o RO §

e
LS RAIE
I.®E T T8 @

a. 1
b.2
c.3 &
d. 4
e.5

Not Attempt @ Correct Ans. ¢

Solution. — —

Q.2 HY:

a. 1
b.2
c.3
d. 4
e 5 w

Not Attempt = Correct Ans. e

Solution.
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Q3 BY:
WD, A®
Tt A Cc?

e
Ffip,c®
POD, AT

a.1 w
b.2
c.3
d. 4
e.5

Not Attempt @ Correct Ans. | a

Solution. = -NA-

Q4 HYA:
gD, A®
WA Cc?

s
L.aMADE
nafc Ag

a. 1
b.2
c.3
d 4 w
e.5

Not Attempt = Correct Ans. = d

Solution. | -NA-

Qs HYF :
Tt gra fasfeHar &

frep:
1. O foRTy GTam™ §
I. o fAsfraf gras §

a. 1
b.2
c.3
d. 4
e.5

Not Attempt @ Correct Ans. b

Solution. T — —

-~ —

o, -\--\-""\-\.\ ~ ",
- ) G =)
J Windows I\\ll:.'I ___.r"/r.l
S .

e ,f/ —

——— R

2/30



04/05/2016 CAREER POWER - No.1 coaching institute for banks and SSC entrance exams

Essay for Question No. 6

A= (6-10): 2 T TU YRS Uy H U Y T T 8, W | G 1| GRT ST SRR {1 ST 8] Big AT § ol T & A
foram T B) MUl By SR & Tt AT R IR HRA1 8 IR Fuiikd #5318 &1 B I Argar sy § fAfkd 8 SR EIRvA)

IR SR (1)afe FF | BT Tl et Uil 1 IR 4 & fore vaftd g Safer & 11 3 Irmkt siha Ul 1 IR 34 & fore vt et
FWR 2 (2) afe HUF 1| Bt IRt Sihd sl &7 IR <1 & e vt § Siafe HU= | B qrdt 3ihd Uell o7 IR 34 & fore v =gt

IR AT (3) afe Hu | 3 IrEht a1 B 1| Bt IrEs srba Uit &1 IR 31 & foe vafw g
IR SR (4) Al FU 1 3R 11 1 BT Tl U Trd w1 SR &7 & forg vl =18 @)
IR A (5) afe HUT | 3R 11 ST 1 IEf T T1Y st T IR o1 & AT 3w g

Q. No Question Status

as Ry, IR, it SR Wy § | H Hed a @ 2
1. =T, oY ar wreA et vt A @
I1. SEifa, TreET ¥ a8

a. 1
b.2
c.3
d.4
e.5

Not Attempt @ Correct Ans. = d

Solution. = -NA-

Q7 N, M ¥ {59 R Iwfia 82
I.ONDIUfI?
1.2, 5T M P UTS PTIgT RN PIIAR

a. 1
b.2
c.3
d. 4
e.5 w

Not Attempt @ Correct Ans. e

Solution. = -NA-

Qs B, A B1 98 8] A,B 9 f5H UeR wwifta 87
I. A, 309 T ST SHalaT g7 ©
Il.A P TETE —B RF

a. 1w
b.2
c.3
d. 4
e.5

Not Attempt = Correct Ans.  a

Solution. = -NA-

Q9 X, W ¥ frd yoR gwifid 82
IV, X®Tufd @
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Q10
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LW, ZHTHTS 8 SR Z BTHTX ®

a. 1
b.2 w
c.3
d. 4
e.5

Not Attempt = Correct Ans. b

Solution. | -NA-

1 98 DIl Ue- R4 &ar 37
. 39 BIAS § IOV US| o Sife afgar s g
II. TP ASH! G Tl & Y 59 Blere B SuR At |

a. 1
b.2
c.3
d. 4
e.5

Not Attempt = Correct Ans. = d

Solution. | -NA-

Essay for Question No.

fAg=1(11-15): & T TS B @FEYdS ue SR Ut F IR |

1

B AT-E, F, G, H, J, KL, 3R M T FATHR B & % B 3R Tg TP 93 ¢|UAD BT U AT UM §-TCS ABTSeT, HIIRT,
STdeR, Folf-eR, forATRisre TTfeRe, R, WhaR 3R IR § Al SMaad ef &I 38 pH A 8l F, K & 91 J gURT 8] o1, K F

b TR 331 3| TP 3R E & §id H Paet 9 7 98 8] SR 3R E & i bad U & Al So1 g[dIaie, sl iR &
31 & ¥3T ) MK & <8 A GIRT 3] H Th I 8] G 3R J T g & TSIf g 7 Y G 3R 7 & J Ueb SoifR 8] fpfrer
TAIeREF & 31 aT¢ 96T 8] AR, BIAERE & & A GIRT 8] MBI, FofTIR & 31% S71d 7 §] G,AICS 3phldced ald ¥ gl g

Q. No

Q.11

Question Status

E¥ IR A gIRT B 331872

a. ¥R
b.G w
c.s'ﬁ’rﬁm
d.F

e.K

Not Attempt @ Correct Ans. b
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Directions (11-15):

. Charterted Accountant
Engineer M
Columnist
Q12 AN AP ATWMPER 82
a.F
b.L
c.M
d. K «
e.J

Not Attempt @ Correct Ans. | d

Solution. | -NA-

Q13 g u" A | IR & T TR & YR IR TS JUE 914 §| 390 A DI 91 39 99g I Jita T8 82

a. ICS 3fprdce— H

b. M — Sldex
c.J—?;Trﬁﬁ'W i

d. frifyem TTferRe - L
e. WAR - K

Not Attempt | Correct Ans. ¢

Solution. | -NA-

Q14 Iyt F i # L 7 fRufa g2
a. T¢I R
b. TR A G w
c. I A G
d. g A fRRT
e. b e

Not Attempt = Correct Ans. b

Solution. | -NA-

Q15 & T AR F YR W 39 | B T HYT I 82

a. AR, SFR F LI RRTE

b. E, riRmd warfene &1 fAdean usiit @

c. H, F 3R fpifma Tifeoe & Sl S d daar g
d. PIAftRe 3R F & oI § Had IR AT 96 8

e. Rumah FyT g g

Not Attempt = Correct Ans. | a

Solution. = -NA-
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Essay for Question No. 16

e (16-20): 2 T BRI BT 31T B AR U P IR 3:TH YT B H ‘a friend of mine’d! 4 9 1 6” 3R ‘mine lots of metal
HI ‘3 10 9 foraT ST B 3R ‘a piece of metal’ &1 7 1 6 3* feraT SaT g

Q. No Question Status

Q.16 ‘piece’ BT HIS T g?

a.3

b.6

c. 1

d.7 v

e. Fuffa et fovar o Iopar

Not Attempt = Correct Ans.  d

Solution.  Directions (16-20):

a —> 6
Friend — 4
of —> 1
Mine ~—* 9
Lots — » 0
Metal — > 3
Piece ~— % 7

Q17 ‘9" P T fordn ST 82

a. of

b. mine
c. friend
d. lots

e. metal

Not Attempt = Correct Ans. b

Solution. = -NA-

Q18 T8 A B ‘a pleasure of mine* T UfafA i@ 3 IHar 22

a. 6309
b. 5216
€. 9216
d. 3694
e. 5041

Not Attempt @ Correct Ans. ¢

Solution. | -NA-

Q19 RN ‘o FTHETATZ?

a. mine
b. metal
c. of

d. lots
e.a

Not Attempt = Correct Ans.  d
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Q.20

Essay for Question No.

CAREER POWER - No.1 coaching institute for banks and SSC entrance exams

Solution. = -NA-

'8 7 3* T 31 T I 2

a. a metal piece

b. metal for friend

c. piece of advise

d. friend of mine

e. large metal piece

Not Attempt

Correct Ans.

Solution. = -NA-

e

fréan(21-25): & T TSR B YIS U R U F IR

TP I B THIR J Y& SR IR db AIGST, BTy, T 3R, Fad wee, giftueferd, fsme, ok dfd T § wafia ard wwiem

Hes, go, fewett, Bavrae, $ER, Wi, SiR 398 A 8 &

BIRUCTACTIR TG, YHAR Pl gaRTaTe N gafl| giueferc! 3R Be-dd ol Had Th JuIa- g3l Td 3R & 1 a1g dfe afdbT J
31 Ugd Aoe R JHTH gail) AAvie TR THeH e H T8l oM WHaR & faceh & wwra gan) sfh ok gras & gu e & o9
Had U TRIAT T UT| TR TR G THIAH e A -Te! GaHT UT| Y01 T QA SSR b JHa- 9 o1 Ugd g Rad tee W gan

TG TR BT 8! g Y| s § gail THIcH, I8 | U GWIcA & 310 aTa ol gafl |

Q. No

Q.21

Q.22

Question Status

Tfe ve FAfda yonell & smuR wR Rk, gor ¥ Trafa @ ok sfe Rua tee @ Twifda g ot 330 Ted & nurR w g

A P A1 R | TR gm?
a. HiTd
b. 9
c.§i% v
d. feeett
e. TTHA DI TaI
Not Attempt @ Correct Ans. | c
Solution.  Directions (21-25):
Days City Subject of conference
Monday Delhi Marketing
Tuesday Chennai HR
Wednesday | Pune Management
Thursday Indore Banking
Friday Hyderabad | Hospitality
Saturday Mumbai Real Estate
Sunday Bhopal Finance
39 ¥ 5w wev ¥ 9T &1 9wae gane
a. 7%
b. oS
c. faeedt
d. Hiuret
e. E_C?N L4
Not Attempt = Correct Ans. e
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Q23

Q.24

Q.25
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Solution. = -NA-

AIH T SR frae Tee & gwIa & o9 fra awe §T?

a. B gl
b. Th
c. &
d.dH
e. dR

Not Attempt = Correct Ans. e

Solution. | -NA-

18 ¥ {5 13 Tasm wwes gam u1?

a. GHIR
b. AR«
c. §YaR
d. T2dR
e. YhaR

Not Attempt = Correct Ans. b

Solution. = -NA-

U A DI AT AT FHAR D1 G3AT 412

a. SfT

b. BAwHc

c. TI3R

d. ATHET w

e. Fuffya &t forar < Tpar

Not Attempt @ Correct Ans.  d

Solution. | -NA-

Essay for Question No.

frd=n(26-30): 37 vl §, Byt A fafte Tt & offw & Ty qifar ar 8] 39 BUl & o1 < e iu T R

IR SIfoR—

(2) A Faa FIeer || SRR FRaT §

(3) afe a1 ot freep | a1 foeepef 11 SRR e §
(4) afe 7 a free | 7 A feef 11 SR FvaT §
(5) afe Frspef | SR 11 SFTER0T R &

Q. No

Q.26

Question Status

PYA :
A2B=C;
B<D<E

frep:
l.D>A
I.LE>C

26
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a. 1
b.2 w
c.3
d. 4
e.5

Not Attempt @ Correct Ans. b

Solution. = -NA-

Q.27 YA
L>UzK;
Z<U<R

LL>Z
II. K<R

a. 1
b.2
c.3
d. 4
e 5 &

Not Attempt @ Correct Ans. e

Solution. = -NA-

Q.28 YA :
Y<J=P2R>|

A
.Jd>1
I.LY<R

a. 1 w
b.2
c.3
d. 4
e.5

Not Attempt @ Correct Ans. | a

Solution. = -NA-

Q.29 YA
V2K>M=N;
M>S;
T<K

I.L.T<N
.v=s

a. 1
b.2
c.3
d.4
e.5
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Not Attempt = Correct Ans.  d

Solution. = -NA-

Q.30 Y -
FSX<A;
R<X=<E

I.LF<E
I.LR<F

a. 1 &
b.2
c.3
d. 4
e.5

Not Attempt = Correct Ans.  a

Solution. | -NA-

Essay for Question No. 31

fAg=r (31-35): ) it IFER B eaTYd® U IR U & ST <

P.Q R, S T, V3R WSIWR & R gg Fd Ua et ufad & 93 8] 378 I TS T 81 fafed & Uar ¥ I1d vk e fafie vl W Igd
3l

Q, TS TR R g4 10 ifed & §1¢ I Y WM R 987 8] T a1 Q I T TR W g arell Ffad Ufad & B3R |R 937 g

Q 3R W F St H Had U Afdd 967 8 W IR TR R I5dT &) Ugd TR TR Ig aTell Afdd S & i ¥ R ”IF W 9318 S, W BT
fpedH TSI el B] T 3R I WIR | g aTd SAfad & g H Had U afad gdT g

P 3R R U&% G & Hdvcdd TSI §] P §¢ TR | T8 IgdT 8| Sl afdd Uied TR W IgdT & 98 ITdd TR W I8 aTd oafad & aid ¥
IR RSB

Q. No Question Status

Q31 9 9 P 91 R R I|AT 8?2

a.P
b.Q
c.R
d.S w
e.V

Not Attempt @ Correct Ans. = d

Solution.  Directions (31-35):
g Y T 1% 3rd g g
S v Q T w P R

N I N

Q32 A A fPI RR R T T|aTe?

a. 1st
b. 2nd
c. 5th
d. 6th
e. 7th
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Not Attempt @ Correct Ans.  a

Solution. = -NA-

Q33 39 9 fP R R v Igar 82

a. 1st
b.2nd
c. 3rd
d. 4th
e. 5th

Not Attempt = Correct Ans. b

Solution. = -NA-

Q3 TR gaR P g A T A A P T HYT T e?

a. S UF9d TRIR TR 381 8 98 S BT Hbead Usift 3

b. V Ugd TR TR gdl §

c. T, G IR W g aTdl Afad & qT¢ F g M R d8T1 8

d. R 3R V T&h W & Adhean Skt §

e. 98 Sgfad Sl 91 TR WR @l & 98 Ufad & el U SR W IB1 & v

Not Attempt = Correct Ans. e

Solution. | -NA-

Q35 gfe @it ol R A SR 96 9ol FUHER R (@R F P 1gd Wik R Q, g WIR R 3R 3id & W Irad TR UR gl
g @ P T AR IRAfAP AT P ARG T AT R §T I[7T?

a.R
b.V
c. W
d.T
e.S
Not Attempt @ Correct Ans. e

Solution. = -NA-
Essay for Question No. 36
= (36-40): U T ust & vt frg (2) & M R 1 A4 M2
Q. No Question Status
Q.36 (5%11)%0f (35%34)=126.2=3587=7
a. 412
b.382 w

c.418
d. 428

e. TR A I T8I
Not Attempt @ Correct Ans. b
Solution. | -NA-

Q37

133595 +4/1225 = (7) =157
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Q.38

Q.39

Q.40
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a. 4%
b. (64)3
c.4
d. 16

e. A I HIS LN
Not Attempt = Correct Ans. ¢

Solution. | -NA-

(20 1.6 = (20x3.2)° % (8) =($)™

a.7
b.6
c. 10
d. 15

e. TR Y PIE T8I
Not Attempt = Correct Ans. b

Solution. | -NA-

Lol Lrr L1
£ 202735 6

d. 2/9
e. STH Y Pl gl
Not Attempt = Correct Ans. b

Solution. = -NA-

6264+ 29 x5.6x11.25=7

a. 13608
b. 12608
c. 14608
d. 15608

e. TTHIADIS TE

Not Attempt @ Correct Ans.  a

Solution. = -NA-
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Essay for Question No. 41

frdr (41-45): 3T 7T vd® vl o U Uy B IR ISP A &l By W& | 3R 11 {7 §] 31ueht g8 fofa vt B T A A < s @t
ol IR A o e vt g QT bt Pyl b1 ufgu iR -

%ﬂ?a"lﬁﬁm)uﬁwmlﬁw 3PS T BT IR 37 P 1T vaTed § S HU 11 bt Grdt siha sl 7 IR <7 & fore vaie et
I

;ﬁ?a‘ﬁlﬁ(z)uﬁmﬁ||ﬁwaﬁueﬁmwéﬁasﬁumﬁ%mﬁa$mlﬁm 3B T BT IR & P oy v gt
I

JWR 2 (3) afe HYF | B Ikt a1 B 1| B ARl Sihd Ul BT IR 3 & fore i g

IR AR (4) T B2 1 3R 11 ST ) Gt Teb 1y ushi b1 IR 37 & Y vl A g

IR A (5) afe HU 1 3R 11 ST ) Tl T Ty sl &1 IR o7 & g 3wy g

Q. No Question Status

Q41 TP 9@ 3 | AUy 8| &I 91d 33|
LT eI 9 AU § 1
1. I TSAT BT 40%, I TBAT T 2/5 9T HAT § |

a. 1
b.2
c.3
d.4 &
e.5

Not Attempt = Correct Ans.  d

Solution.

(4)

From the first statement If any number is divisible by 3, its square is always divisible by 9. So we cannot find the
number from the given statement. From second statement 40% of the number is 2/5th of that number. So the
question cannot be answered even after using both statements together.

Q42 I, T 3R AR & =T &7 3T 9a1g)
1.%a %1 6000 ¥. HT & ForH IW A 3000 F. BT AT |
11,379 3R XATH & I BT SJUTd 3:2 § 3R T 3R WL BT U 2:1 F)

a. 1
b.2
c.3
d. 4
e.5

Not Attempt = Correct Ans. b

Solution.
(2) From statement first we can’t find the answer as shayam and Mahesh investment are not given .From second
statement their ratio are=3 : 2 : 1 So second statement is sufficient to given the answer.

Q43 P AT BT AT TP UGV YA F QT6d & ISR 8| STad B T8 F1d H?
1. Byt &7 3R 80 AW B
I1. Byt @Y Sars 90 At B

b.2
c.3
d.4
e.5

13/30
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Q44

Q45

Q. No

Q.46

CAREER POWER - No.1 coaching institute for banks and SSC entrance exams
Not Attempt = Correct Ans. : d

Solution.  (4)
Areaofrectangle =area of right triangle

1 s
=X basex height

1
=% 80=90=3600

Areaofrectangle =3600

So we can't find the length by neither alone statement nor together.

38 U & 919 Y Tifa @ @2
1. YaE PR ANRBF T g Fl T HA A 3R 7 ¥ T4 3|
I1. 7918 & ATt A 3R B & 9 g3t Y 99 F T 39 14 6 A 8

a. 1
b.2
c.3
d 4 w
e.5

Not Attempt = Correct Ans. = d

Solution.  (4)
In both the statement there is nothing mention about distance so we can’t find the answer.

it & fraq wfawra tRart & TRT Ge &1 T e g iR IHT A @ T 1,50,000 ¥, 32 URGRI Ft HEM
1,50,000 82

1. gt & 28% TRaRY &1 & 1,50,000 F. B |

1. gt & 40% TRar &1 arffe T @ 1,50,000 ? 3R G &1 TP e 8]

a. 1
b.2
c.3
d. 4
e.5

Not Attempt = Correct Ans. b

Solution.
(2) From the second statement clearly we can find out the number of families which have exp and bungalow.

1,50,000 x 40

=60,000
100

Question Status

TS araTe § gl 3R Aed| BT FUTd HH: 37: 39 8| ATATd A ga@! 3N Aewh] BT 3NHd T=AT 152 §| a9 § Hedp! Bt
T fea-l 82

a. 148
b. 152
c. 156 «
d. 144

e. TTH A PIE T8

14/30
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Not Attempt = Correct Ans. ¢

Solution.  (3)
Let number of ducks = 37x
And number of frogs = 39x
Average = 38x =152
x = 4. Hence number of frogs = 39x = 156

Q47 pIRQ, QN TA € SN TP B! B - 3R HHI: Ui 3R ¢ e & WA §) graifes, ot 9 A oftes e ww g 15
forre A @relt 8 W 8] Ul <Y ugd @relt &Y, &Y i1 Tl B 5 Bl B WA | e gHy whm(efie ol 8)?

4= fAae

~1| k2

i
5
3= f&ac
b 7
c. 5 fiFe
d. 2 fiFe
e. 3T Y P 7L

Not Attempt @ Correct Ans.  a

Solution. (1)
Let the capacity of the tank is 30 litres.
P can fill 6 litres in one min.
Q can fill 3 litres in one min.
C can empty 2 litre in one min
Together both the pipes and leakage will fill 7 litres in one min. Hence time to fill the tank = 30/7 mins

Q48 TH 1950 T I AR W 3 Iuf & 3 A 6% TP g3 A AW fra-T Tshgi STl UTd FRIT?

a.34747%
b.384%
c.344%
d.3725%
e. 3685%

Not Attempt @ Correct Ans.  d

Solution.  (4)
P =1950, R=6%, N = 3 years
1st year interest = 117
2nd year interest = 117 + 7.02
3rd year interest =117 + 7.02 + 7.02 + 0.4212
Total interest = 372.5 (approx)

Q49 gfd e 7/4, 8/5, 813, 4/3, 3/4 B ITP UM & AR aAN! HH A AafYd fHar W@ @ 17 1 D41 gRM?

a.7/4
b. 3/4
c. 8/5
d. 4/3 &
e. 8/3

Not Attempt @ Correct Ans. = d
15/30
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Solution. = (4)
The fraction in descending order are 8/3, 7/4, 8/5, 4/3, 3/4.

Q50 W A TS e | 456 3P U fFY R SifraTH BY 39 uden A 54 wfowra oiw Wi gU SN WA A 24 3w ¥ 7] afe
I g & g =graw o 34 wfa=ma gt Y, T A U g1 & T *gaw siwt | fhan siw 3ifie wra frge?

a. 184 w
b. 196
c. 190
d. 180

e. STH A BIS 76l

Not Attempt = Correct Ans. | a

Solution. (1)
Let the maximum marks in the examination be x.

432 %100
Now, 54% of x = 456-24 = 432 = x= % =800

34
Minimum passing marks =ﬁx800=2?2
Required difference = 456-272 = 184

Q51 g i R W O 9 § AR ST 12 URRd 91 a1iie g3 § 7,200 F. ST YW ST 8] S9 I UR 2 99 § 5 ufwrd
Tt AffE R A fFaa1 awqfs et wre ghme

a. 1000 .
b.1025%. &
c. 1050 .
d. 1075 .
e. 2000 .

Not Attempt = Correct Ans. b

Solution. (2)
Let the principal be Rsx, Then,
= %ﬂs?zoﬂ = x=Rs10000

5
Required Cl= 10000[{1+mf —1]=Rs 1025

Essay for Question No. 52

frd=r (52-56): fou 0 uslt 7wyt forg (2) & I W &1 H149 3ATE?
Q. No Question Status

Q.52 40280625, 732375, 16275, 465, 18.6, 1.24, ?

a.0.248
b. 0.336
c.0.424
d. 0.512

e. A I HIS LN
Not Attempt = Correct Ans.  a
Solution. = (1)
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40280625 732375 16275 465 18.6 1.24 0.248

Q.53 14,12, 21, 59, 231, 1149, ?

a. 6987
b. 6787
c. 6887
d. 6687

e. TIPS T8

Not Attempt = Correct Ans. ¢

Solution. [3}
14 12 21 59 231 1149 6887
x1—-2 x2-3x3—-4 x4-5 *5—6 x6-—7

Q54 1728, 2744, 4096, 5832, 8000, 10648 ?

a. 12167

b. 13824 w
c. 15625

d. 9261

e. TR A BIS TE

Not Attempt = Correct Ans. b

Solution. 2)
1728 2744 4096 5832 8000 10648 13824
(127  (14)° (16)3 (18)3 (20)3 (22)3 (24)3

Q.55 8,10, 14.5, 22.5, 35, 53, ?

a. 36

b. 54.25
c.65
d.775 w

e. T A BIS TE

Not Attempt @ Correct Ans. = d

Solution.
(4) & 10 14.5 22.5 35 53 77.5
+2 +4.5 +8 +12.5 +18 +24.5
+2.5 +3.5 +4.5 +5.5 +6.5

Q.56 2, 32, 252, 1024, 3150, 7812, ?

a. 38697
b. 17306
c. 32704
d. 16758

e. TTHIDE 5l v

Not Attempt = Correct Ans. e
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(5)
(1)5+(1)2=2
(2)5+(2)2=36
(3)5 + (3)2 =252
(4)5 +(4)2=1024
(5)5 +(5)2= 3150
(6)5+(6)2=7812
(7)5+(7)2= 16856

Essay for Question No. 57

= (57-61): fear mar urg = fafiysr AT & soidty faaRor gifar 3] wel & IR 37 & fofg I &t & § U (T4 H)

Budget (In Degree)

Direct
Demand
124

Roads &
Railways
41

Agriculture
54.6

Q. No Question Status

Q57 IR 1:15 BT AU SR 91 HE &,

a. &1 3R T AT

b. TSP 3R YA 3R &l
c. T AT 3R 30

d. U el AT 3R &
e. A I BIS ol

Not Attempt @ Correct Ans.  d

Solution. @ (4)
From the diagram we can observe that Direct Demand :Defence=12.4: 185=1:14.92 =1:15 nearly.

Q58 Ife IoIe BT HM 20,000 HAS T. BT 81 TbdT &, &1 U 11 a6 09 39 o4l | fpa=m 3l 82

a. 100%
b. 10% A HH
c. 15% 3 &
d. 250%

e. TTH A PIE T8

Not Attempt @ Correct Ans. b

Solution.
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(2)

Asthevalue of Defense expenditure and the rest of the expenditure is calculated w. r. t. the same total value,
. , ... 185-175
We can get the required answer by taking the percent of degrees whichis = BETTRE x100=35.7%

i.e. excess of defense over the rest is less than 10%.

Q59 gf geIc HTHM 14,400 HIS TUT &1 dl Y W & T 0T TN 8,

a. 2284 TS ¥UT
b. 2100 RIS ¥IY
c. 2184 RIS IUT
d. 2300 FXIS ¥UT
e. A I BIS Q!

Not Attempt = Correct Ans. ¢

Solution. (3)Agriculture subtends an angle of 54.6% out of 3607,

=40x54.6=Rs.2184 crore

So, the expenditure on Agriculture is=14400x

Q60 Y AT Tole BT A TAWM Tole BT GRIAT &1 3R Hel BT fIaror &8 TaH W @ FR W A ara 377 3R o W gl
I G P U TN fHa=1m ghme?

a.56
b. 2:1
c.1:2
d. 2:3

e. TTHIAPIS Q!
Not Attempt @ Correct Ans.  a

Solution. @ (1)
54.6:67 = 1:1.2 or 5:6 most nearly

Q61 i goIc BT AM 3,60,000 HIS TUT &1 af 7 A | 5y &7 W g 377 ol & WaER 82

a. TSI 3R Yd 3R Y& AT
b. H SR UTe AT

c. B 3R TSF 3R YA

d. e AT SR &
e.%ﬁﬁaﬂgﬂﬁwqﬁ%

Not Attempt = Correct Ans. b

Solution. = (2) Agriculture and direct demands = 54.6° + 12.4° = 67°
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Essay for Question No.

fré=n(62-66): feam mar urg A i Srdt T9a & Fa a=id! &1 ufawra faavor gxifar g < mft arferest 30 af ¥ siftre 3R 30 a¥ I wH

3mg &l % g 3R Higen afe] &1 oFurd exifd 8] B <o 40 IS T

Coloms
Ao Star Plus
25%
g
("
hi;: Zee TV
Sony 24%
16%
B Ratin of Ratio of
Chamet | Ratio of | o fimate | male-forale
N ame Male below 30 above 30
: Female wears years
Star Phe 911 T:8 546
Zee TV 5.7 3:2 34
S oy 5:3 2:3 1:1
MTV 9:7 5:4 4:3
SAR TV 3:5 1:2 3:2
Colowrs 1:1 11:9 7:3

Q. No Question Status

Q.62 Zee TV, SAB TV 3R MTV & x| P SiHd &I HT 82

a. 4.5@3

b. 5.2 FRIS
C. 5.6@3

d. 6.4 FIS

e. A I BIS QI

Not Attempt = Correct Ans. b

Solution. 2441045
(2} Average % of viewers =# =13%
Average number of viewers = 40 = ﬁ= 5.2 crores

Q63 sony TV ¥ 30 a¥ A ¥ 1Y aTelt wlgen axfel #Y wen 712

a. T T5! N HHAT 8 v
b. 1.5 BRIS
c. 1.6 IS
d. 1.8 HIS

e. STH A BIS el

Not Attempt @ Correct Ans.  a

Solution. = -NA-

Q64 |ff A F A To a3l 3t WE fFa g 2
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a. 17 W18
b. 13 TRIS
C.20.12 FRAS w
d. 31 IS
e. A I HIS 7L

Not Attempt = Correct Ans. ¢

Solution. = (3)
Total number of males from all channel =4.17 +6 + 3.6 + 0.75 + 2.0 + 3.6 = 20.12

Q65  MTV, SAB TV, Zee TV 3R ®R WN 3@ 1A $of AfedT 3R o Tl BT SHHT: SJUTd FTF 2

a.43:59

b. 213 : 347

c. 497 : 413

d. 497 : 323
e. 132:323

Not Attempt = Correct Ans.  d

Solution. = (4)
Ratio = (40 - 20.12) / (.75 + 2.0 + 6 + 4.17)
=19.88/12.92
=497 : 323

Q66  MTV FI ufgar oxfe oFFT 3mg 30 af & HU 8, SAB TV & 37 Algan gxfwl &1 fFan ufaza 8 et emg 30 af &
AP 32

a. 36%

b. B8l T8l ST IHAT &
c.48%
d. 60%
e. 80%

Not Attempt = Correct Ans. b

Solution. = (4)
Cannot be determined

Essay for Question No. 67

fArdar (67 - 70) : FrafefRd ush # Q1 1 3R 1| Felievur foU T BT T g B & IR 3P IR ¢

Q. No Question Status

Q.67 l.x2-15x +56 =0
Il.y>+2y -63=0

a. 1

b.2
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c.3
d. 4
e.5

Not Attempt @ Correct Ans.  d
Solution.  (4)x=8,7;y=-9,7;x2y

Q68 | gx2+5x-4=0
Il. 4y? 12y +5=0

a. 1
b.2
c.3
d. 4
e.5 w

Not Attempt = Correct Ans. e

Solution. __ 41 _5 1
()x==3.3.¥=7.3:%=y

Q.69 I. x> =196
Il.y =196

a. 1
b.2
c.3
d. 4
e.5

Not Attempt @ Correct Ans. e
Solution. [5) X=i14,}-"= 14:){:_:}1

Q70 l. 7x+8y=56
Il. 3x +4y=40

a. 1 w
b.2
c.3
d. 4
e.5

Not Attempt = Correct Ans.  a

Solution. (1) x=-24,y=28;x<y
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Essay for Question No. 71

Directions (71 to 80): Read the following passage carefully and answer the questions given below it. Certain words/phrases have
been printed in bold to help you locate them while answering some of the questions.

As increasing dependence on information systems develops, the need for such systems to be reliable and secure also becomes
more essential. As growing numbers of ordinary citizens use computer networks for banking, shopping, etc., network security is
potentially a massive problem. Over the last few years the need for computer and information system security has become
increasingly evident, as web sites are being defaced with greater frequency, more and more denial-of-service attacks are being
reported, credit card information is being stolen, there is increased sophistication of hacking tools that are openly available to the
public on the Internet, and there is increasing damage being caused by viruses and worms to critical information system resources.

At the organisational level, institutional mechanisms have to be designed in order to review policies, practices, measures, and
procedures to review e-security regularly and assess whether these are appropriate to their environment. It would be helpful if
organizations share information about threats and vulnerabilities, and implement procedures for rapid and effective cooperation to
prevent, detect and respond to security incidents. As new threats and vulnerabilities are continuously discovered there is a strong
need for cooperation among organizations and, if necessary, we could also consider cross-border information sharing. We need to
understand threats and dangers that could be vulnerable to and the steps that need to be taken to mitigate these vulnerabilities.
We need to understand success control systems and methodology, telecommunication and network security, and security
management practice. We should be well versed in the area of application and systems development security, cryptography,
operations security and physical security.

The banking sector is poised for more challenges in the near future. Customers of banks can now look forward to a large array of
new offerings by banks. From an era of mere competition, banks are now cooperating among themselves so that the synergistic
benefits are shared among all the players. This would result inthe formation of shared payment networks (a few shared ATM
networks have already been commissioned by banks), offering payment services beyond the existing time zones. The Reserve Bank
is also facilitating new projects such as the Multi Application Smart Card project which, when implemented, would facilitate transfer of
funds using electronic means and in a safe and secure manner across the length and breadth of the country, with reduced
dependence on paper currency. The opportunities of e-banking or e-power in general need to be harnessed so that banking is
available to all customers in such a manner that they would feel most convenient, and if required, without having to visit a branch of a
bank. All these will have to be accompanied with a high level of comfort, which again boils down to the issue of e-security.

One of the biggest advantages accruing to banks in the future would be the benefits that arise from the introduction of Real Time
Gross Settlement (RTGS). Funds management by treasuries of banks would be helped greatly by RTGS. With almost 70 banks
having joined the RTGS system, more large value funds transfers are taking place through this system. The implementation of Core
Banking solutions by banks is closely related to RTGS too. Core Banking will make anywhere banking a reality for customers of each
bank, while RTGS bridges the need for inter-bank funds movement. Thus, the days of depositing a cheque for collection and along
wait for its realisation would soon be a thing of the past for those customers who would opt for electronic movement of funds, using
the RTGS system, where the settlement would be on an almost instantaneous basis. Core Banking is already in vogue in many
private sector and foreign banks; while its implementation is at different stages amongst the public sector banks.

IT would also facilitate better and more scientific decision making within banks. Information systems now provide decision makers in
banks with a great deal of information which, along with historical data and trend analysis, help in the building up of efficient
Management Information Systems. This, in turn, would help in better Asset Liability Management (ALM) which, in today’s World of
hairline margins, is a key requirement for the success of banks in their operational activities. Another benefit which e-banking could
provide for, relates to Customer Relationship Management (CRM). CRM helps in stratification of customers and evaluating customer
needs on a holistic basis which could be paving the way for competitive edge for banks and complete customer care for customers of
banks.

Q.No  Question Status
Q71 The content of the passage mainly emphasizes
a. the threat of competition among banks providing tele-banking services
b. the scientific advancements that have facilitated quicker and scientific banking procedures «#
c. threats to on-line banking and remedies to guard against them

d. e-banking and its impact on global economy
e. None of these

Not Attempt = Correct Ans. b

Solution. | -NA-
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Q72 What, ‘according to the passage, is the prerequisite to lessen the threats of hacking?

a. Effective measures to combat vulnerability

b. Environment-friendly gadgets to remedy damages
c. Detection and timely prevention of the threat

d. Effective mechanism to evaluate the security &
e. None of these

Not Attempt @ Correct Ans.  d

Solution. | -NA-
Q73 In what way does IT catalyse better decision-making?

(A) By providing updated data and trend analysis.
(B) By providing increasing opportunities of personal contacts.
(C) By ensuring better asset-liability management.

a.Aonly &

b. B only

c. C only

d. Aand B only
e. All the three

Not Attempt | Correct Ans.  a

Solution. | -NA-

Q74 What is the advantage of RTGS to the customers?

a. Anywhere banking

b. Instant realisation of cheques

c. Easy withdrawal of cash

d. Hassle free depositing of cash-loads

e. Availability of transaction facilities at any other bank «#

Not Attempt = Correct Ans. e

Solution.  -NA-
Q75 What, according to the author, should be the ultimate goal(s) of e-banking?

(A) Customers’ convenience.
(B) Avoidance of heavy footfall of customers in bank branches.
(C) Protection of customers’ interests.

a. Aand B only

b. B and C only
c.Aand Conly w
d. All the three

e. None of these

Not Attempt = Correct Ans. | c

Solution. = -NA-

Q76 Why is it obligatory that a system should be perfectly dependable?
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a. To justify escalating dependence on system,
b. To ensure security for the system &

c. To disallow any pilferage whatsoever

d. To ascertain proper logistic support

e. None of these

Not Attempt = Correct Ans. b

Solution. | -NA-
Q77 Which of the following is/are recommended by the author to ensure security of banking transactions?

(A) Continuous re-examination of policies and procedures.
(B) Ensuring appropriateness of the security measures.
(C) Cooperation among various users to identify and prevent threat.

a. Aand B only
b.Band Conly
c.Aand C only

d. Aand B only

e. None of these

Not Attempt = Correct Ans. b

Solution. | -NA-

Q78 Computer-savvy citizens are also shared to transact on-line due to the following except

a. smuggling of vital information regarding credit cards

b. availability of hacking tools on the internet

c. damage by viruses to critical information

d. sophisticated, well-guarded on-line transaction devices w#

e. denial-of-service attacks that put valid customers to inconvenience

Not Attempt = Correct Ans.  d
Solution. | -NA-
Q79 Choose the word which MOST OPPOSITE in meaning to the word printed in BOLD as used in, the passage.

Vulnerable

a. Susceptible
b. Rigid

c. Invincible ¢
d. Prone

e. Weakling

Not Attempt @ Correct Ans. ¢
Solution. = -NA-
Q80 Choose the word which is most nearly the SAME in meaning as the word printed in BOLD as used in the passage.

Era

a. Year
b. Epoch
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c. Span
d. Spirit
e. Instinct

Not Attempt = Correct Ans. b

Solution. | -NA-

Essay for Question No. 81
Directions (81 to 85): In each of the following sentences there are two blank spaces. Below each sentence there are five pairs of

words denoted by numbers(1), (2), (3), (4) and (5). Find out which pair of words can be filled up in the blanks in the sentence in the
same sequence to make the sentence grammatically correct and meaning fully complete.

Q. No Question Status

Q81 Most people are too in their own lives to much about the agonies of others.

. absorbed, care
. concerned, think

. indulged, eradicate
. involved, console

. entangling, worry

O o o T o

Not Attempt = Correct Ans.  a

Solution. = -NA-

Q82 Doctors and lawyers that advertising will certainly their profession adversely.

a. trust, damage

b. believe, affect
c. contemplate, boost
d. argue, effect

e. plead, escalate

Not Attempt = Correct Ans. b

Solution. | -NA-

Q83 Because the leading to cancellation of flight were murky, the Minister appointed a Commission
to and reports the matter.

a. staff members, undertake

b. decisions, decide

c. facts, underplay

d. events, camouflage

e. circumstances, investigate «#

Not Attempt = Correct Ans. e

Solution. | -NA-

Q84 Several plots , in various televisions episodes.

a. screen, concurrently

b. televised, consequently
c. occur, repeatedly

d. exhibit, frequently

e. demonstrate, violently

Not Attempt = Correct Ans. ¢
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Solution. = -NA-

By of their athletic activities, a few sportsmen are able to escape the pressures that living in
can create.

a. knowledge, affluence
b. way, prosperity

c. order, vicinity

d. virtue, poverty

e. contrast, adversity

Not Attempt = Correct Ans. = d

Solution. = -NA-

Essay for Question No. 86

Directions (86- 90): Read each sentence to find out whether there is any grammatical error in it. The error if any will be in one part
of the sentence. Mark the number of that part with error as your answer. If there is no error, mark (5) as your answer.

Q. No

Q.86

Q.87

Q.88

Q.89

Question Status

The postman was polite (1)/ and said he regretted (2)/ at the delay (3)/ in delivery. (4)/ No error. (5)

a. 1
b.2
c.3 w
d. 4
e.5

Not Attempt = Correct Ans. ¢

Solution. | -NA-

The shopkeeper was pleased (1)/ when we told him (2)/ this kinds of mangoes (3)/were very delicious. (4)/ No error.

(3

a. 1
b.2
c.3 w
d. 4
e.5

Not Attempt = Correct Ans. ¢

Solution. | -NA-

As a teenager (1)/ Monica Seles had (2)/often beat Steffi Graf (3)/ at the French Open. (4)/ No error. (5)

a. 1
b.2
c.3 w
d. 4
e.5

Not Attempt = Correct Ans. | ¢

Solution. | -NA-

He was (1)/ of the belief (2)/ that the evening news (3)/ are worth watching. (4)/No error. (5)

a. 1
b. 2
c.3
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d.4
e.5

Not Attempt = Correct Ans. = d

Solution. | -NA-

Q.90 The instructions clearly (1)/ state that (2)/each item is having (3)/ two options. (4)/ No error. (5)

a. 1
b.2
c.3 w
d. 4
e.5

Not Attempt @ Correct Ans. ¢

Solution. | -NA-

Essay for Question No. 91

Directions (91- 95): Given below is the first sentence at a paragraph followed by six other disarranged sentences which are denoted
by (A), (B), (C), (D), (E) and (F). Rearrange these six sentences to make a meaningful paragraph, keeping the first sentence as the
starter of the para and then answer the questions that follow.

Starter: Twenty-five centuries ago when the Greek traveler Herodatus visited the already ancient monument of Egypt, he
found that the tourists had gotten there first.

(A) The Egyptians built for eternity.

(B) The ‘why’ is easy: religious beliefs that sought perpetuation in masses of stones so ponderous they must be measures in tons
and acres and that demanded that these material manifestations of faith be not only huge but permanent.

(C) Tourists are still coming to Egypt and-are probably still inscribing their names on the old, stones.

(D) In the words of Ramses 11, who dedicated the magnificent temple of Medinet Habut in the13th Century B.C., this was to be “a
place of the Lord of the Gods, forever”.

(E) Their names were scratched on the crumbling ruins in hundreds of ancient languages.

(F) They are probably sharing another experience too—standing in silent and involuntary admiration before the great structures and
flawed and discriminatory peace of silently posing those inevitable questions: Why? How?

Q. No Question Status

Qo1 Which of the following should the FIFTH sentence after the starter?

a.A
b.F
c.C
d.D w
e. E

Not Attempt @ Correct Ans.  d

Solution. = -NA-

Q92 Which of the following should the FIRST sentence after the starter?

a. A
b.B
c. F
d.D
e. E w

Not Attempt = Correct Ans. e
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Solution.  -NA-

Q93 Which of the following should be the SIXTH (LAST) sentence after the starter?

a.A
b.B
c.C
d.D
e. E

Not Attempt @ Correct Ans.  a

Solution. | -NA-

Q94 Which of the following should be the FOURTH sentence after the starter?

a. A
b.B
c.C
d.D
e F

Not Attempt = Correct Ans. b

Solution. = -NA-

Q95 Which of the following should be the SECOND sentence after the starter?

a. F
b.B
c.C w
d.D
e. E

Not Attempt @ Correct Ans. | c

Solution. = -NA-

Essay for Question No. 96

Directions (96-100): In the folllowing passage there are blanks, each of which has been numbered. These numbers are printed
below the passage and against each, five words are suggested, one of which fits the blank appropriately. Find out the appropriate
words without changing the meaning of the passage.

Capital investment is essential for ...(96)... of productive capacity and adding new capacity for current and future industrial growth.
The ...(97)...of this article is to make an assessment of capital investment in the private corporate sector, which would provide
important insights into the business spectations about performance of economy in ...(98)..., and the infrastructure and manufacturing
sector ...(99).... The method of ...(100)... growth in corporate investment should really, be based on the available means of financing
an investment project.

Q. No Question Status

Q.96 926

a. Installations

b. Maintenance
c. Aggravation

d. Generation

e. Modernisation

Not Attempt = Correct Ans. b

Solution. = -NA-
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Q.97

Q.98

Q.99

Q.100

97
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a. Problem

b. Objective
¢. Summary

d. Essence

e. Moral

Not Attempt = Correct Ans. b

Solution. | -NA-

98

a. Abstract

b. Globe

c. Development
d. General
e. Details

Not Attempt | Correct Ans. | d

Solution. | -NA-

929

a. Particular
b. Question

c. View

d. Future

e. Industrialisation

Not Attempt = Correct Ans.  a

Solution. = -NA-

100

a. Reinventing

b. Augmenting
c. Estimating

d. Amplifying

e. Checking

Not Attempt = Correct Ans. b

Solution. = -NA-
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